u
/—\ i3
8 ¥ 0
= 2 g 8
: o e hy dB BT
CAL-ROY AL 6605 Flofilla Street 23 EL T M E—da z!
SRABEETS (G City of Commerce Zui FNEIT 2R EE goa 3>
: ’ > CA 90040 Gen, ini weaAl |5 5 §§ 3e
¢; - ]
v itéh__""’::_] . ':i:?“-r‘:),:;:' . % g QE
; i-g'i‘f!_"-_'i:.”.‘i\-"':&m 3‘ 88 $ Eﬁ
52.0' MAX. O.A, 52.0' MAX. O.A, 3 % 8% by
DKS SERIES 1800 FRAME VDT SRR
STEEL COMMERCIAL DOOR P S
£ &K 88
OUTSWING g
"IMPACT" »
5| g8
| S 2
Q o -_é
2= 20
: 3% |58
2 L 7% |38«
5 X X 38 |8 T
2 L
& @ o & 18 c@
< al w» gt
o 2 g &
><' %. o o
EVALUATED FOR USE IN THE STATE OF TEXAS < ] ] =
The Cal-Royal Door described herein complies with the 2006 International = -
Residential Code (IRC), Sections R301 and the 2006 International Building Code &
(IBC), Sections 1405.12, 1609 & 1714.5 (including Texas revisions) subject to the
following conditions: |
1. Anchors shall be as listed and spaced as shown in the details. Anchor %
embedment to base material shall be beyond wall dressing or stucco. o
2. This system has been tested and evaluated as a large missile impact protective g
system for installation in the Seaward, Inland | and Inland Il areas. This product r |
meets missile level "D" and includes Wind Zone 4 as defined in ASTM E1996. - - - -
3. Allowable design pressure requirements must be equal to or less than the design . 161 Latch & Deqdl;gol’r Panic Bar _Ex'f Device
pressure rafing shown in the design pressure chart, sheet 1 of this drawing. Plcineer SL/ .CS'I‘. Series” Latch w/ Vertical Rods
4. Conditions not covered by this drawing are subject to further engineering 1300 Series" Deadbolt “7700-V Series"
analysis. - -
(=]
TABLE OF CONTENTS =
SHEET# | DESCRIPTION ATIV TP 42
1 Typical elevafion, design pressures & general notes " " 161 LATCH & DEADBOLT s
g 3oc?r p?nlel Ci((;:;h::il::,f = : 52.0" x 98.0 "PIONEER SL/CSL & T300 Series" +80.0 -80.0 scale:  N.T.S.
Ornzonial anga verical Cross seciions DWG. BY: JK
S | Gicioiy | PANIC BAR EXJ;?:\;:::SEe"ﬁfERHCAL RODS R
6 Components " " W, . 3
7 Bill of materials and components 52.0"x98.0 "7700-V Series" +50.0 50.0 TXI 44837
SHEET _1 oF _7

\\2012ess\RWBC\Clients\Cal-Royal NEW\Texas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, TX-4483

© 2014 R.W. BUILDING CONSULTANTS INC.



TON} SLNVLUIMNSENOD BaxMaung

M +10Z 5

ZS811—d # NOLVMISIOZH JO AUVOLILNID SNOISIA3Y
SHIINIONI WNOISSZJONC 40 QuvOe Swxal SIVLIA TINVS H0Oq Ad 31¢3 TON] Al . 7_
. . - B Nl S x ko o
S6SEC 11 oopIbA OFZ %08 0'd \a\w@. IXTOWISSY 90 1uvd N 5 R
"ONI "SINVITNSNOO ONITTING 400G WIOYINN0D T33LS S 71 g |5 2 |
£ZivoLf “3'd SwxaL WAQY VD alals w £~
Fd IPIUYDS 'J UOPUKT g pe.pdesy sjuswnsog 110NA0¥d HAEIHEE i
=<
Q
e
1)
i
_ vy
TS T T AT TR T T T a
PP S
Dameen et
, _..Wﬂ_% . ‘AA ._ %ﬁ%.ﬁ%&#@ _KA b\w . m 5
b . s
, sl Sl8
el e O e N I R R =
o
S8
) @®

/" 2\ HORIZONTAL CROSS SECTION

W Door panel

59— 85 - .
&
=
—— O
4 — ac
= : = e
=
=
>
Q
+ 3 o
| &
% W
J£0°0 —m=tfj-— ll.rr.m m
V/\\ ) b
-
ﬂ @
A Pant PaaX
\ I ]
_ NMW T :mw m. |'._
3 &

47.5"

@ Panic Bar prep simitar

47.75" MAX
PANEL WIDTH

o)
£
El LOO o
(o]
* s z
4 ]
Z P
P Qla
C O iy . wil
Q. zmmo o e | il i) .
e o5
m\ Ll ) M
=<4} &
i Sk 5|8
T ® ®
H-
[ L] —=
THOEH 1INYd XYW 064
I e | W8T ST e AL 1 A
P
. .

RO

q "

ROYAL STEEL DOOR PANEL

@ CAL

STEEL DOOR SKIN [18 GA.]: MIN. 0.04

BOTTOM CHANNEL

Steel

®

000 PS! MIN.)

3
CORE MATERIAL: EPS FOAM {POLYSTYRENE - 1.0 PCF MIN. DENSITY)

"THK.

5

STEEL GRADE: ASTM A1008 GALV, STEEL {Fy

Z-1 ‘BMpHI0Z SYXELwweLnd\sbumeIg\iemauay Z.p - IQ1NSUT J0 1080 Sexa 1\IAN 12A0Y-1eDASILBIDNDEMENSSBZTOZ\




\\201Zess\RWBC\Clients\Cal-Royal NEWATexas Dept of Ins\TD! - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 1-3

EXTERIOR VIEW

“!

1-1/2" MIN.

v # ¥ v »
- %
v 4 v v
D & R . b - M ad
- ; v . & N
IS v Pv‘,, . 717 .
. -
3
- ] X
1 l\\ I //
SEE NOTE 2 M 8
INTERIOR VIEW
EXTERIOR / INTERIOR
LT
/"2 "\ VERTICAL CROSS SECTION
w Outswing configuration
NOTES:

1. Anchor strap [3/4" wide, 18 gauge steel)
or Tube Anchor tack welded to frame
glong each end.

2.Panic Bar set screws (#12-24 x 5/16")
must be activated to achieve impact
rafing. Locate one screw af fop
and bottorn at center of push rail
of locate one screw af each end of bar,

INTERIOR

@ |

SEENOTE 1 ; T

7/

EMB. {TYP.)

EXTERIOR
71 "\ HORIZONTAL CROSS SECTION

(19

\3/

EXTERIOR

i-1/4" MIN.
EMB. (TYP.)

3
b
LA

H -
T e
SRR

o ryf

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

INTERIOR

7”3\ VERTICAL CROSS SECTION
w Outswing configurafion

CAULK (TYP.)

f

/~ 4 \ HORIZONTAL CROSS SECTION

3

2X Stud Construction
Wood Stud Anchor

£.0. Box 230 Valrico FlL. 33595
Phone No.: 813.658.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION §# F—11852

Documents Prepared By:

CAL—ROYAL
STEEL COMMERCIAL DOOR

PART QR ASSEMBLY:
CROSS SECTIONS

HORIZONTAL AND VERTICAL

PRODUCT:

REVISIONS

NOJ| DATE

oaTE: 10/1/14

SCAtk: N.T.S.

WG, 8Y: JK

CHK, BY: LFS

DRAWING NO.:
TX—4483

SHEET 3 oF 7

© 2014 R.W. BUILDING DONSULTANTS INEC.



W201.2ess\RWBC\Clients\Cal-Royal NEWATexas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 1-4

MAXD.P. <= 80 PS.F.
MAXD.P. <= 44 PSF,

JAMBS
(TYP.)
- (=3
SILL
(TYP}

., ] TR
&
SEE DETAIL 1
T
1/
¥ =
&
S sxenied
N
1 s
STRIKE JAM
CONCRETE ANCHOR NOTES:

=

FRAME ANCHORING

Latch & Deadbolt
Masonry Construction

— L;__. m“.m]..
SEE DETAIL 2.
(TYP.) “( 1
L/
3
Il B —
:
| % i —
1 ’ )
5
_ 2
=
i i
l &" (TYP)
8 MAX, O.C.

HINGE JAM

1. Substitution of equal concrete screws from a different supplier may have different edge distance and

center disfance requirements.

2. Concrete screw locafions af the comers may be adjusted to maintain the minimum edge distance to
mortar joints. If concrate screw locations noted as "MAX. ON CENTER" must be adjusted fo maintain the
minimum edge distance to mortar joints, additional concrete screws may be required to ensure the
maximum cn center dimension is not exceeded.

3-3/4"

3/8“

-1 2-1/4"

41/

4. Embedment may be through 1-1/4" face shell of hollow block.

12
MAX,
9 63"

AR v iy AR
_ o SEE DETAIL 3 - /(/ ]
] g%
A SEE DETAIL 2] ]
(TYP.) i
&
L'): %
MAX D.P. 70 PS.F. o )
-y Q
MAX D.P. <= 44 P.SF. e i
JAMBS > #
o - ||
3 g
: SILL : o
—r (TYP.) g J
' == | T see DErAL 4 — T
5 o i ﬂ(\;{ | i i ]
g e I\ 4 e
8'MAX. O.C.
STRIKE JAM FRAME ANCHORING HINGE JAM
Panic Bar Exit Device w/ Vertical Rods
Masonry Construction
W
L\Y

7.69"

b\
W

DETAIL 1
Latch & Deadbolt Strike Plates

A\ Y

Mgl
Reof

o
\

22

|
=
DETAL3

Vertical Rod Latch Stike Plate
@ head

pon
=

A\

L1/

!Dd

¥/

DETAIL 4
Vertical Rod Latch Strike Plate
@ silt

ul
o N
g¥ 0
£, £y
g* 3 k2
" SR TR a7
.o -
[ b o
S qu gz
= g2 GO
EIg =
kg J g E
2 >
2o @E
)]
3 82.. xro
@ § o
Qo XZ
] zZ 0 L
(. §mo oy
8 3¢5 8
,E Bai g%
s & -
c
P R A5
E o
8
a
o
3
o
N =
] 44
31§
Y5 |3 2
2= |3 o
OGS |u =
I L
o ﬁ el W
SIS
ot
o &
& <
o o
>
o
)
=
-
v
ol
[
o
=
o
o
z
Date: 10/1/14
SCALE:  N.T.S.
DWG, BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4483

SHEET 4 oF 7

© 2014 R.W. BUILDING CONSULTANTS ING.



\\2012Zess\RWBC\Clients\Cal-Royal NEW\Texas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 1-5

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR
ARCHITECT OF RECORD BASED ON WIND LOADS

AND THE CLADDING BEING USED.
v
2X FRAMING
N
] ] DOOR FRAME D =
h b
fl7
¥ i
H B
HEAD & JAMBS
e 5 %
JAMBS
SEEDEIALI {2) PER STRAP (TYP.)
| (EACH FACE) ‘ i
] —Iﬂ_\ j = s ——
. % &y
U/ o™~ o
! 1 1
T 5
g % (P)woop %
SILL CONCRETE i
(TYP.)
‘ ‘F - . Ix !' 'It . l %
o T S ::] —— 6" (TYP)
8" MAX.O.C.
STRIKE JAM
FRAME ANCHORING
Latch & Deadbolt
2X Stud Construction
Strap Anchors
CONCRETE ANCHOR NOITES:

1. Substifution of equal concrete screws from a different supplier may have different edge distance and
center distance requirements,

2. Concrete screw locations at the corners may be adjusted fo maintain the minimum edge distance fo
mortar joints. If concrete screw locations noted as "MAX. ON CENTER" must be adjusted to maintain the
minimum edge distance to morfar joints, addifional concrete screws may be required fo ensure the
maximum on centfer dimension is not exceeded.

3. Concrete anchor table:

LILs 1-1/4 4 r

- TA

4. Embedment may be through 1-1/4" face shell of hollow block.

.
L
1

/1\

SEE DETAIL 2]

(TYP) 9
&
&

L
s
|

HINGE JAM

7.69"

@ Ll
h\)

DETAIL |
Latch & Deadboelt Strike Plates

\v’l\ui
g Bt
- "*
% §9 0 Eg
N P B
Ay gM  aT
Lo Z Z
™ B~ uw
SR8
§ a 2
v b z
& &6
5 FEQ ak
: >0 ﬁg
e BT z -
A . ° gu
h é“kl”&":. ™ _\,‘\:‘:\f:x- 3‘ 8 ﬁ *: E E}
oy g ol
v O XZ
® 28 bu
e [ 3 o]
] 9 .c
s 592 gp
T moaoa 56
0 ™
: D £
]
PR 8
3
o
0
fa]
i
S
w
° =
o
== S
5% | &
cw |5 8
12 |ol <
23 |3 w
Lo I =
2 <
.. ~4 o
[ H x Lo
gl w18
2l s
& %
Q. a
>..
m
vy
=
O
2]
x
“
w b
<
o 4
| O
1T G: . S
| — 1. ——» : @ g
0 o ’
Tty H o oatE: 10/1/14
scalE:  N.T.S.
DWG. BY: JK
\\‘ CHK. BY: LFS
DRAWING NO.:
DETAIL 2 TX~4483
Hinges

SHEET 5 oF 7

© 2014 B.W. BUILDING GONSULTANTS INC.



'ON| BINVLINENDD SNIOTINE "M'H ¥ LOZ 5

mwwwnmwﬂm go#ém,oum 40 3IvoldUN3D SININOGNOD SNOISIAZY
OISS3404d 40 CeivOS Sl anv SRELW d0 Tne |48 VA ON =} delo] N
LBLE'6S9'E18 FON euoyd . 4GS v,
S65CC M4 SOMIPA 05T Xo@ "O'd \N\w@. TTBNISSY 80 Lavd N .38
"ONI 'SINVLINSNOO ONIGHING 3% g 1 6_
¥00@ WIDNINWOD TIILS 2 lglgle x
SZTLFPOLF ‘T'd SWHAL WACY—TYD I t
T'd NPIUYOS "3 UOPUAY g pespdesd syueWINSOQ ‘Ionaoud HEIE R &
- ..N.w
- Al e 9777 o]
+ g e B A .m -
| k T g
. o} o 0 o i
8 ! 3 @@= C &
- o] o) o) o) * m
b j . -
3 ' oy Z's
< S unnn 2
Old
Q0
_ 29 | A
* _ WB5Y _ _ @

ol

1
0.14" —mm e

/

\

]
Ke» 3
] -
e 5
G
mw [
" g
- O o
L] m e WL08 - E
| -] S -l |1_ % 3
® O
= ac
% ) m * @ L i I | L- A m
I*’ * o :m&.m |l m
= G
& §7—=1 21 f=— =B
0. 1l 0l -LH._ m
=5
i =9
= &— — O L3 &
o = |y _ \T —
3 : ¢ L 59| ®
—_— x
O ) &= e FET ]t_
vﬂHulu . ..Q.v.m B — S
- o 00—
2
o™ Q
o
<
O S,
1 6 l=
Sz
®
T‘|l’ __M
S50 —=— _.A|
.:Muﬂno e {li— | i

I
I -

- 1.94" —=

5"

Y

THRESHOLD

@ THRESHOLD

800

575"
FRAME
16 Ga. Steel

T

WL9Q =

—— |—-‘— 0.437"
&
- 1.56" —=

-1 ‘BMPPTOZ SYXALMuaLn\sBumeIa\emauay 7/ - IG1\SUT §0 143G 5exa | \MIN [BA0Y-EIASIUSID\IEMU\SSIZ TOZA



\\201 2ess\RWBC\Clients\Cal-Royal NEW\Texas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 1-7

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C%0
Foo11/4"X 2-1/4" TW PFH CONCRETE SCREW STEEL
G | 3/8"X 2" PFH ITW DYNABOLT SLEEVE ANCHOR STEEL
H | 3/8"X 2" PFH TAPPER CONCRETE SCREW BY POWERS FASTENERS STEEL
P | #12X2-1/2" PFH WOOD SCREW STEEL
Q | WOOD STRAP ANCHOR STEEL
1 DOOR PANEL STEEL
2 | HOLLOW FRAME 2" STEEL
3 | BOTTOM CHANNEL STEEL
4 | FLUSH TOP CHANNEL STEEL
S | LOCK BOX REINFORCEMENT STEEL
SA | LOCK BOX REINFORCEMENT STEEL
6 | DOOR CLOSER REINFORCEMENT {11 GA.) STEEL
7 | DOOR HINGE REINFORCEMENT STEEL
8 | WEATHERSTRIP - COMPRESSION BULB 1/4" X 1/2" [PEMKO 588) NEOPRENE
9 | 41/2'X 4-1/2" X 0.125" TEMPLATE HINGE STEEL
10 | #12-24 X 1/2" PFH MACHINE SCREW STEEL
11 | FRAME HINGE REINFORCEMENT STEEL
12 | #12-24 X 1" COMBINATION MACHINE / WOOD SCREW STEEL
13 | DEAD BOLT STRIKE STEEL
14 | ANSI LATCH STRIKE STEEL
15 | THRESHOLD {PEMKO #181_T) ALUM
16 | WEATHERSTRIP {THERMOSEAL™) NEOPRENE
17 | UNIVERSAL WALL ANCHOR REINFORCEMENT STEEL
18 1 THRESHOLD (PEMKO 2001P) ALUM
19 | TUBE ANCHOR REINFORCEMENT STEEL
20 | CAL-ROYAL PIONEER SL/CSL SERIES GRADE 2 CYLINDRICAL LOCK -
21 | CAL-ROYAL T300 MAX. SECURITY HEAVY-DUTY DEAD BOLT GRADE 2 LOCK -
22 | #8-24 X 3/4" COMB. MACHINE / WOOD SCREW STEEL
23 | CAL-ROYAL 7700-V SERIES VERTICAL ROD EXIT DEVICE -
90 | VERTICAL ROD LATCH STRIKE PLATE @ HEAD STEEL
91 | VERTICAL ROD LATCH STRIKE PLATE @ SILL STEEL

tyndon F. Schmidt, P.E
TEXAS P.E. #104123

05" ] +
+
'O +
¥
uma & O
G
.¢,
T ] +
+ ‘ *
R p 1o
3 i |+ Tf‘“
- 2" Io
¢ — Iy
1 J 0.75" —me—wm|
3 . :
WOOD STRAP ANCHOR © | 27
@ ¢ m
P
BB
| F
o Bs
b S <
L
I I B

P.O. Box 230 Valrice FL. 33595
Phone No.: 813.658.9187

TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F-11852

CAL—ROYAL
STEEL COMMERCIAL DOOR
BitL OF MATERIALS AND

PART OR ASSEMBLY:

PRODUCT:

COMPONENTS

BY

REVISIONS

. TUBE ANCHOR

NO.| DATE

e 10/1/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4483

SHEET 7 OF 7

© 2014 R.W. BUILDING DONSULTANTS INC.



